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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVvi
dFVo

——
+

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

) o
IIIIIIIIIIIIIIIIIIIIIII 5 P o ———— e o —— S — — — 5 fe o —— e —— e — S S —
© ©
19} Lo
o o
© ©
@ ® @
<) o
o o
© ©
[Ip] Lo
r~ r~
o] o
o o
o) 1
[Ip] o
> >
© ©
© ©
Ip] Lo
o o
o] o
<) o
o o
19} Lo
[Ie] Lo
~ ~
< <
S} o
) o)
o || < > || < ©
)} [ o
[} [T L
T T T T T T T T T T T T
o o o o o o o o o o o o
S re) S s S st S s S st
(32} N N — — N — —

0. 6500
0. 6475 -
0. 6450
0. 6425
0. 6400 -
0. 6375 -
0. 6350

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI_ETcl’,

"setVIl _fgRec’, "setVI VN,

"s1SetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warning: col

[’ PHC' ,

"FVIPH' ]

is missing

10

20

30

40

50

60




7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Plot [['FVOPH:r-o’, 'PHO:g—o’]]

!

Warning: col [ FVOPH' ] ii missing
0 10 20

! !

bod loooossoed bod

PHO

30 40
d

50

60




Trend plot forP3-11_0
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P3-11

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS EFRE

07:25 283 150.0 2.888 RS FhHA@O7:25 kENFEF (RAfREE)
08:05 283 150.0 2.888 RS ThHAQO8:05 KENFEF (KAfEEER)
08:45 283 150.0 2. 888 RS FiHAe08:45 KREFEF (KREEESE)
09:25 283 150.0 2.888 RS FmHA@09:25 KENFEF (kAAfEEIER)
10:10 283 150.0 2.888 B ThHA@10:10 KENFEF (RAA{EEEE)
10:50 283 150.0 2. 888 RS FhHA@10:50 KENFEF (KAEEE)
11:25 283 150.0 2. 888 B FhHR@11:25 KENFEF (RAIEEEE)
12:00 283 150.0 2.888 B ThHA@12:00 KENFEF (RA{EREEE)
12:35 283 150.0 2. 888 RS ThHAe12:35 KEIEF CRAHEERE)
13:10 283 150.0 2. 888 B FiHFe13:10 REIEF (REAERESE)
13:45 283 150.0 2.888 B TmHA@13:45 KENFEF (RA{EEEE)
14:25 283 150.0 2. 888 RS ThHAe14:25 KEIEF CGRAFEERE)
15:05 283 150.0 2. 888 RS FmHA@15:05 KENFEF (RAA{EEIER)
15:50 283 150.0 2.888 A5 FHAe15:50 KEFEF (KAERKESE)
16:45 283 150.0 2. 888 RS ThHA@16:45 KEIEF (CRAHEESER)
Bit| 4245.0 (15%%) 2250.0 3 WHKEC: 2080.0, PH: 5.9

FEIKECE (1820.0 vs 3593.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-11_0, Day=65 (2025-06-06)

VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1800 1 727' 2000

0.6 416
0.4~ L 1000

0.2 A 80
00 00

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=5.9

0.2 1
908 1

i 1
300 ByWoFy! @065 01:50: ET=1727 Fg=2250.0 Ro=463.0

i
: 3000

0

- 2000

200 -
- 1000

100 A

1.0 ———a & a E— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

08l B %% | B g Hg g g g Hg g 5 5 5 g 5 i 5 5 5 5 5 5 B 5

0.6 1

0.4+

0.2~

0.0
800 {

600
400 -

200 -

\ A A WarRing: , 'PPFD_obs’] is missing
0

25 A

20 A

15 /. 'To-obs' ] -is missing

90 1

80 A

70

60

—— RH Warning: col ['RH obs’, 'RHo obs’] is miss

50 -

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

125

:20

:20

:20

:10

:30

:10

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

4@
o
%,

%

%



P3-11
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:20 288 150.0 2.888 el {Ri&e07:20 Bal (REEESE)
08:15 288 150.0 2.888 BE| {Ri&e08:15 Bl (REAEHE)
09:15 288 150.0 2. 888 RS {Ri8e09:15 Bzt (REERSE)
10:10 288 150.0 2.888 el Rige10:10 Bal (REEESE)
11:05 288 150.0 2.888 el Rige11:05 Bz (REAERSE)
12:00 288 150.0 2.888 B Rige12:00 Bz (REAERE)
12:55 288 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:55 288 150.0 2.888 B 1Rige13:55 Bah (REEESER)
14:45 288 150.0 2.888 BS| 1Ri%e14:45 Bz CGREAEESE)
15:40 288 150.0 2.888 S| Ri%e15:40 Bz (REERESR)
=21t 2880.0 (10)%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1780. 0 vs 3467.0) iH 5



P3-11_0, Day=63 (2025-06—04)
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 300 150.0 2. 888 RS {Ri8e06:35 Fz (REAEHE)
07:25 300 150.0 2.888 BE| {Ri&e07:25 Fz (REAEEE)
08:55 300 150.0 2.888 BE| {Ri&e08:55 Fz (REAEHE)
09:50 300 150.0 2. 888 BE| {Ri8009:50 Fz (REAEHE)
10:35 300 150.0 2.888 el 1Ri&e10:35 Fz (REAEEE)
11:20 300 150.0 2.888 el Rige11:20 Fzy (REAEHE)
12:05 300 150.0 2.888 B Rige12:05 Fzy (REAEHE)
12:50 300 150.0 2. 888 Bl Rige12:50 Fz (REEEE)
13:40 300 150.0 2.888 S| Rige13:40 Fzf (REAEHE)
14:25 300 150.0 2.888 BS| 1Ri%e14:25 Fzh GREAMEESE)
15:15 300 150.0 2.888 S| Ri%e15:15 Fzi (REAERSR)
16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEHECE (1860.0 vs 3513.0) 5

150.0), FAEEHT—@ % XA HS




P3-11_0, Day=62 (2025-06-03)
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:25 288 150.0 2. 888 RS {Ri&e07:25 Fzy (REERSE)
08:10 288 150.0 2.888 sl {Ri&e08:10 Fz (REEEE)
09:20 288 150.0 2.888 RS {Ri&009:20 Fz (REAEHE)
10:05 288 150.0 2. 888 e {Ri&@10:05 Fzy (REAEHE)
10:55 288 150.0 2.888 el {Ri&e10:55 Fz (REEHE)
12:00 288 150.0 2.888 el Rige12:00 Fz (REAEHE)
12:35 288 150.0 2.888 B {Rige12:35 Fz (REAEHE)
13:10 288 150.0 2.888 [Z=| 1®i%e13:10 Fzh (REAEZRESR)
13:55 288 150.0 2.888 [Z=| 1Ri&e13:55 Fzh (REEEE)
14:40 288 150.0 2.888 [Z=| 1Rige14:40 Fzh (REEESE)
15:30 288 150.0 2.888 [Z=| 1Ri%e15:30 F3zh (REEESE)
16:30 288 150.0 2.888 |Z=| 1BRige16:30 Fzh (KAEESE)
29t 3456.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 EIEARTF (195.0
ZRIAEBRIERE159. 0 ml.

HEEHECE (1907.0 vs 3883.0) 5

159.0), FAlEEHT—@ L XA HS




P3-11_0, Day=61 (2025-06—02)
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